ind 2 Truths and a Fib |

Switch on your camera, unmaute, 1. The ratios (5:12) are
discuss and solve © (30:72) are equal
Solve the question in your note

book and enter if the statement

is Truth or Fib

2 3

Divide Rs 1200 among A, B The ratio (1: 3) and (13:39)
and C in the ratio 2:3:5. are equal

Answer: 260,360,580

4. Choose a representative
Two numbers are in to tell the class 2 truths
the ratio 11:12 and their and 1 fib you found in
sum is 460. Find yEet grevy

the numbers.

Answer: 15: 20



